Introduction

jevel I
/- .
block elements are placed in groups ...4... of the 5. He has ...A... configuration. Here, 4 refers to

2 5en'odic Table. Here, A4 refers to (a) 2s°
) 1318 (b) 14 — 16 * (b) 1s'
© 15-17 (d) 12-18 (c) 1s22p°
: 2
9, The valence shell electronic configuration of the R
phlock elements is ...I.... Here, I refers to ’
@ nene? el bl Level I1

(©) ns’np? (d) nsnp®
6. Which group of elements are commonly known as

3. The absence of d-orbitals in ...4.... period and x 5
presence of dor dand f1 orbitals in ...B... elements PRICOSEDSS
(a) Group-13 elements

have significant effects on the properties of b6 140l t
elements. Here, A and B refer to E C; 6:555:1 5 Zs:g:t:
(a) A-second; B-lighter (b) A-fourth; B-heavier (d) Group-16 eler;wents
(¢) A-second; B-heavier (d) A-fourth; B-lighter
Pras ) 2 »
4, “Properties i ST, R 7. ‘Pnicogens’ is derived from Greek word ...4...
perties hke atomic sizes, ionisation enihalp.y meaning ...B.... Here, A and Brefer to
etc., have no influence on p-block elements. This (@) A-pniomigs; B-suffocation
statement is (b) A-pniomigs; B-small
Ea) tr_ue. (b) false (c) A-pniconide; B-small
) partially true (d) cannot be predicted (d)- A-pniconide; B-suffocation
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Group-15 Elements

Level I
8. Nitrogell. phosphorus, arsenic, antimony and Codes
bismuth belong to p SR - A B
BN e . a) 3 (RS by 12 3
(@ group-14 (b) group-15  (c) group-16  (d) aroup-17 (((]; D t 4 ((I") 3 i ;
9. Nitroge . ; '
2 gen and phosphorus' are ...A..., arsenic and 16. Assertion (A) Electronic configuration of g
Zanogygre ...B... and bismuthisa ... C.... Here, eletnents is extra stable Ol
Band Care slements is extra e,
( . Reason (R) The sorbitals are full
L Py e /rorbilals'(ar)e half-filled. 7 Hled g

(b) A - metals; 8 - non-metals: C - metalloids
(¢) A -non-metals; 8 - metalloids; C - metal
(d) A - metalloids; 8 - metals; C - non-metal

Choose the most appropriate option frgp, i
choices given below. ;
(a) Both Aand Rare correct; R isthe correct explanatlono"

10. What is the percentage of molecular nitrogen by () Bt and Rarecomse RIS hotihe cormsstanl
volume of the atomosphere? of & ally
(2) 64% (b) 68% (c) 78% (d) 84% (c) Ais correct; R is incorrect

11. Chilesaltpetre is the common name of (d) Ris correct; A s incorrect

(8 AGNO;  (b) NaNO; () NaSO,  (d) AgCl 17. Covalent and ionic radii of group 15 elemens

12. NaNOj is found in the form of ...I... in plants and (a) increase down the group upto P and then decrease
(b) increase down the group

animals. Here, I refers to ,
@ pro;:ins Ie, M (c) decrease upto P and then increase down the group
L
h
(c) nucleic acids .(d) None of these (d) decrease down the group

13. An element M belongs to group-15 and it occurs as 18. Assertion (A) As to Bi, there is only a sml
increase in covalent radius.

the founder of the apatite family which are the :
main components of phosphate rocks. M is an Reason (R) d and/or f orbitals are completel
essential constituent of animal and plant matter. It filled in heavier elements.

is also present in bones as well as in living cells. Choose the most appropriate option from th
Identify M. choices given below.
(a) Calcium (b) Magnesium (a) Both Aand R are correct; R is the correct explanationofA
(c) Either (a) or (b) (d) Phosphorus (b) Both Aand R are correct; R is not the correct explanation
of A
14. Statement I As, Sb, Bi are found mainly as (c) A I8 correct:/R [s incorreet
sulphide minerals. (d) Ris correct; A is incorrect
Statement II Phosphoproteins are present in milk - .
and eggs PAOP P ; 19. Ionisation enthalpy of group 15 elements ‘
I. decreases down the group due to the grad““l}

|

1
1
|

Which of the above statement(s) is/are correct?

Choose the correct option. increase in atomic size. :
(@) Only| (b) Only I II. itis higher than that of group 14 elements inthe

(c) Both I and Il (d) Neither I nor Il corresponding periods.

15. Match the terms of Column I with the terms of IIT. the order of successive ionisation enthalpiesis
AH <A Hy <A Hj.

Columr'1 IT and choose the correct option from the
codes given below. Which of these statements is/are true? Choose &
Column | Column II correct option.
A N 1. [A]3d™4s% 4p° @ landll
B. As 2. [Xe] 41" 50 6s? p? 10y 11 gnaill
C. Bi 3. [He]2s?2p® fﬁ; :aungnlg Il
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p-Block Elements

gtatement I The ele(‘,ll-mmgativity value, in
20. eneral, decreases down the gro N

atomnic size.
Stateme“F II] Amongst l.he heavier elements, the
difference in electronegativity valyes i prominent,
Which of the above statement is/are true? Choose
the correct option. l

@ Only |
(©) Both land Il

up with increasing

(b) Only ||

(d) None of these

o1, Consider the following statements,

I. All the elements of group 15 are p olyatomic.
II. Dinitrogen is a diatomic gas while all others are
solids.

[Il. Metallic character decreases down the group.
Which of the above statements are true? Choose
the correct option.

(@) land Il
(c) land Ili

() I'and Il
@ I, lland Il

92. In group 15 elements the boiling point ...A4... from
top to bottom and the melting point ...B... upto
arsenic and then ...C... upto bismuth. Here, 4, B
and Crefer to
(a) A-increases; B —decreases; C — increases
(b) A-decreases; B — decreases; C — increases
(©) A-increases; B-increases; C—decreases
(d) A-decreases; B - increases; C —decreases

2. The only element which does not show allotropy is
(@ nitrogen (b) phosphorus
(c) arsenic (d) bismuth

%, The common oxidation states of group 15 elements
are

(@ +3and +5
(c) ~5and +5

%. Statement I The stability of +5 oxidation state
decreases and that of +3 state increases down the
group.-

Statement II The reason for the above factis inert

Pair effect,

Which of these statement(s) is/are false? Choose
€ correct option.

&) Only | (b) Only

©) Neither | nor i (d) Both | and Il

Assertion (A) Nitrogen is restricted to a maximum

(b) =3and -5
_(d) -8, +3and +5

“valency of 4.
Reason (g

&€ available
;i 00seg | :

4,

three p) orbitals
en.

Only four
for bondi

27.

28.

29.

30.

31.

215

(@) Both Aand R are correct; R is the correct explanation of A

() Both A and R are correct; R is not the correct explanation
of A

(€) Aiscorrect; R is incorrect

() Riscorrect; A is Incorrect

. A... differs from the other members nfgr-oilp‘ 15
due to its small size, high electronegativity, high
ionisation enthalpy and ...5... of d-orbitals. Here,
A and B refer to
availability
availability

) A~ Nitrogen ; B
) A = Phosphorus; B

;) A = Nitrogen; B = non-availability

) A = Phosphorus; B -~ non-availability

Nitrogen has unique ability to form ...I... bonds
with itself and with other elements having
...IL...size and ...III...electronegativity. Here, I, IT
and III are

(@) |- pmr-pr multiple; Il - high; Il = high

(b) |- pm-pr multiple; Il — small; Il = high

(c) | -=pr-prsingle; Il = small; [l = low

(d) |=pr-pxsingle; Il = high; Il = low

Assertion (A) Heavier elements of group-15 do
not form pm- pmbonds.

Reason (R) Their atomic orbitals cannot have
effective overlapping due to their large size.

Choose the most suitable option

(a) Both Aand R are correct; Risthe correct explanatior) of A

(b) Both A and R are correct; R is not the correct explanation
of A '

(c) Alis correct; R is incorrect

(d) R iscorrect; Ais incorrect

Statement I Single N—N bond is weaker than
the single P-P bond due to high interelectronic

repulsion of the non-bonding electrons, owing to
the small bond length.

Statement II As a result, the catenation tendency
is stronger in nitrogen.

Which of the above statement(s) is/are true?
Choose the correct option.

(a) Onlyl (b) Only Il
(c) Both land Il (d) None of these

I. Covalency of N is restricted to four.

II. N connot form dn - pn bond as the heavier
element can.

II. P and As cannot form dr - dr bond with
transition elements when their compoun s like
P(C2H5)3 and As (C6H5 )3 act as 118'3110‘8

Which of the above statements are true? Choose

the correct option

(@) land Il () lland Il () land ||| (d) All of these
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32.

33.

34.

35.

36.

37.

Master The NCERT Chemistry VYol-ll i~ a== 200

All the elements of group 15 form hydrides of the

type ...A.... Here, A means

(@ EQH'; (b) EHs © EHy () EHy
The stability of hydrides ...4... from NH4 toBH3.
Here, Ais

(b) increases

(a) decreases
(d) None of these

(c) remains constant

Arrange the following hydrides in the decreasing
order of their basicities NH;, AsHg, SbH3, BiH3,
(@ NHy >AsH, >SbH, >BiH; >PH,
(b) NH, >PHy >AsH, >SbH; 2BiH;
() BiHg >SbH; >AsH; >PH; 2NH;
(d) PH, >BiH, >SbH >AsH; >NH,

The two types of oxides formed by the group
15 elements are
(@) EO5and £0,
(¢) EQ;and £0;

N does not ‘form pentahalide due to

(a) availability of d-orbitals in its valence shell

(b) availability of p-orbitals in its valence shell

(c) non-avail:ability of p-orbitals in its valence shell
(d) non-avail ability of d-orbitals in its valence shell

(b) £05and £Os
(d) £0,and EOg

Statemert I In group-15 elements, their
pentahalides are more covalent than trihalides.

StatementII All the group 15 elements react with
metals to form their binary compounds exhibiting
-3 oxidation states.

Which of these statement(s) is/are true?
(@ Onily | (b) Only Il
(c) Bothland II (d) Neither I nor Il

Level 11

38. Amongstelements of group 15, the property which

decreases down the group is/are
L electronegativity
IL. stability of -3 oxidation state
II. acidic nature of oxides
IV, reducing character of hydrides

Choose the correct option.
() I, Iland I ~

40.

41.

42.

43- ]

44.

45.

46.

47.

48.

[I. The reducing nature of the hydrideg
down the group.
[11. The thermal stability of the hydrideg a
down the group.
Choose the correct option.

(a) Iland Il (b) Iand Il
(c) | and Il (b) I, Il and |

§

Creases

The correct arrangement of molecules on the
of their dipole moment is
(a) BF, >NFy =NH;
(c) NH, >NF5 = BF3
Tonic radii (in A) of Sb3*,Bi®* and As?* follow th,

order
(@) Sb* >Bi* >As™ (b) Bi** >As* >5p*

() Bi* >Sb* >As* (d) As* >Sb* s

basg

(b) NH; >NF, >BF,
(d) BF; >NF, >NH.

Bond dissociation enthalpy of £ — H (E = elemey

bonds is given below. Which of the compoung;
will act as strongest reducing agent?

Compound NH, | PH, | AsH, | St
Agies (E —H)/kdmol™ | 389 322 297 | 255
(@) PHs (b) NH; (c) AsH; (d) SbH,

Group 15 elements can form compounds in +5
oxidation state. However, Bi forms only one wel
characterised compound in +5 oxidation state.
This compound is

(a) BiCl; (b) Bi,Ss () Bif (d) Bis
Which of the following hydride has the lowest
boiling point?

() PH, (b) AsH,

(c) SbH, (d) NH,

...A... has a greater tendency to form multipk
bonds. Here, 4 is
(@) Bismuth
(c) Nitrogen

(b) Antimony
(d) Arsenic

The oxidation state usually shown by P and Nar

(@) +5only (b) +3only

(c) =3only (d) Both (a) and (b)

The molecule having one sigma bond and t;]ﬂ]
mbonds is [KeeT 20
(@) R (b) As, (c) Sb, (d) Na

> ¢
Nitrogen forms N, but phosphorus is conver®
into P, from P,. The reason is

(@) pr-pr bonding is weak

(b) multiple bond is formed easily
(©) prc-pr bonding is strong

(d) triple bond is present in phosphorus atoms
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pevel I

49, Dinitrogen is produced commercially by the ... 4
and ...B... of air. Here, 4 and B refer ta
(a) liquefaction —A; B — fractional distillation
(b) liquefaction - A; B - distillation
(©) poling —A; B —distillation
(d) poling -A; B - fractional distillation

50. Boiling points of liquid dinitrogen and liquid O,
respectively are
(@ 90 Kand 77.2 K respectively
(b) 77.2 Kand 90 K respectively
(c) 97.2 Kand 70 K respectively
(d) 70 Kand 97.2 K respectively

51. Complete the following equation
NH,Cl(ag) +..L.. —> _.IL..+ 2H,0 (J)
+ NaCl(aq)
Here, I and II are
(@) NaNOs(ag) -1, Nx(g) =1l (b) NaNOy(ag) - I, Hy(g) - Il
() NaNO_(ag)—1.Ny(g) -1l (d) None of these

52. Very pure nitrogen can be obtained by the thermal
decomposition of ...4... azide. Here, 4 refers to

(a) barium (b) sodium
(c) Either (a) or (b) (d) None of these
53. Dinitrogen

(a) is a colourless, odourless, tasteless and non-toxic gas
(o) has a very low solubility in water

(c) is rather inert at room temperature

(d) All of the above statements are correct

54, Statement I Dinitrogen is inert due to high
bond-enthalpy of N=N bond.

Statement IT With- rapid increase in temperature
the reactivity decreases.

Which of the above statement(s) is/are correct?
Choose the most appropriate option.

(@ Only | (b) Only Il
() Both | and Il (d) Neither I nor Il

55, Complete the following reactions

6Li 4 .1, Hulleatt PN

Mg +N, 2, I
773K

N2(g)+3H2(g) = _IIL.
A H® =-46.14 mol ™!

p-Block Elements

56.

57.

58.

59.

60.

217

Dinitrogen

Here, I, IT and III refer to

@ | —Ny; Il —Mg,Ny Il —NH;
(b) | —2N,; Il—MgN:  IIl—NH,
() | —2Ny; I —MgN:  IIl—2NH,
(@) 1 —N,; I —Mg Ny 11l —2NH;(g)

Level 11

Nitrogen lacks d-orbital in its valence shell and
hence it cannot

(a) exhibit orbital hybridisation

(b) exhibit the oxidation state of +5

(c) form oxides with oxidation state of greater than +3

(d) have covalency greater than three

Which of the following are properties of nitrogen?
I. Nitrogen bond
II. Allotropy

III. Catenation
IV. Low boiling point

Choose the correct option.

@ I Iland Il (o) 1, lland IV
(©) Il llland IV (d I, lland IV
The reason behind the low reactivity of nitrogen is

(a) stable configuration

(b) small atomic radius

(c) high dissociation energy
(d) high electronegativity

On heating, ammonium dichromate and barium

azide separately, we get

(@) Npwithammonium dichromate and NO with barium azide

(b) NJO with ammonium dichromate and NO, with barium
azide

() NJO with ammonium dichromate and NO with barium
azide

(d) N, in both cases

Assertion (A) P, is more reactive than N ,.

Reason (R) Phosphorus has less electron gain

enthalpy than nitrogen.

(a) Both Aand R are correct; R isthe correct explanation of A

(b) Both Aand R are correct; R is not the correct explanation
of A

(c) Als correct; R is incorrect

(d) Riscorrect; A isincorrect
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Ammonia
Level I
61. ...A... is present in small quantities in air and soil IL. FeCl,(ag) + NH,OH(ag)— Fe,0, H, 0,
where it is formed by the nitrogenous organi s 1‘3{
matter. + INH, Cllqg)
Hore, At Here, A and B refer to
(@ Nit’rogen (b) Ammonia (&) A =brown and; 5 ~white
(c) NO (d) None of these (b) A - brown and: B — brown
: (c) A -white and; B - brown
62. NH,CONH, + 2H,0 —> ...4... (d) A - white and; B - white
—2NH; +H,0 +...B... 68. Ammonia molecule is a Lewis base due to
In the above equation 4 and Bare (@) the presence of a lone pair of electrons on the Neatom »
(@ (NH,),CO5— A CO,-8 NH,
(b) (NH,),CO5— A CO-B (b) the absence of a lone pair of electron on the N-atom of <
(c) (NH,) CO; - A CO-8B (c) Either (@) or (b)
(d) (NH,) CO5 - A CO, -8B (d) None of the above

69. The use(s) of ammonia is/are
I. to produce various nitrogenous fertilisers

63. N,(g) + 3H,(g) — 2NH,(g)

(S -1
Borit i 101 Rhel II. in the manufacture of nitric acid.
The above reaction of manufacturing NH ; is of III. as a refrigerant
(@) Mond'’s process (b) Hall-Heroult process Th Lo
(c) van Arkel method (d) Haber's process € correct option is
(@) land Il (b) Il and llI
64. The optimum conditions for the production of (c) land Il (d) 1. lland Il
ammonia are :
70. The colour of [Cu(NH;), |** lex i
I. A pressure of 200 x 10° Pa e e CENTL | | complexis
. (@ light blue (b) deep blue
II. A temperature of ~700 K (c) light green (d) deep green
III. Iron oxide with small amounts of K,O and
Al,Oj is used as catalyst
o i Level 11
e correct option is E————
(@ landll () landlll  (c) |,lland Ill (d) Iland Il 71. Liquid ammonia is used in refrigeration due to s
65. Statement I Ammonia is a colourless gas with a (a) high dipole moment  (b) basicity |
pungent order. L (c) stability (d) heat of vaporisation
Statement IT Its freezing and boiling points are 72, ...A... has largest bond angle.
198.4 and 239.7 respectively. Which of the above (@) PH, (b) NH,
statement(s) is/are correct? Choose the most (c) SbH, (d) AsH,
2;}7 l;gg::te EER: (b) Il is true 73. The correct statement(s) related to ammonia is/3%®
(c) Both | and Il are true (d) None of these i NH, gves bla..ck precipita.te withlcalomel-
66. The shape of ammonia molecule is Iil. gg:* glves.évil:t:; ques with H(i - 00°C in B¢
(a) trigonal pyramidal with the nitrogen atom at the apex ' g ox:f le' with oxygen a
' itrogen atom at the apex. presence ol p at‘n}lm- s it
n atom at the apex IV. NH; can be dried by P,O;, Hy50,
e ; CaClz . ]
—> Zn(OH), (s) Choose the correct option. [AFMC, CBSE AIPMT 2 ¢
4 @) |, lland IV (0 I, llland IV
)23()4 (aq) (c) I, Nand Il @ I It land IV
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. “Ihe correct reason(s) is/are
a pair of electrons,

76. Following statements/properties are about N, O
I. Chemical name — Nitrogen [I] oxide
II. Oxidation state of nitrogen is +1.
III. Common method of preparation is

NH,NO, -2, N,0 +2H,0

IV. Colourless gas

Which of the above properties truely belongs to?
(@ I, lland Il (b) II, llland IV
(c) I, 1lland IV ) I, 1, llland IV

77. Match the items of Column I with those of
Column II and choose the correct option from the
codes given below.

Column | Column Il
(Formula) (Oxidation state of N)
A NO i, ) '
B. NO, 2, +3
C. NLOs 3. +4
D. NLO, 4, +5
Codes
ASSRER S I (E S ) Al Bl siCignD
(@ 1 a2 (b) 2 450 1
{c) 3 15124 14 (d) 4 2 3
_ Cool
78. ZND, ~—— e
heat
Here, A means
(8) NO +NO, (b) NLO,
(©) 2NO + NO,4 (d) NO, +NO

79. Following compounds have planar structure
except any one. Find that odd one -N,04,NO,,

N,0,,N,0;
(@ N, (b) NO,
(©) NO; (d NO,

e
S

p-Block Elements .

iy
|

219

II. the Cl" ion formed has a stable configuration.
II1. the N atom of NH ; gains electrons.

IV. a proton in HCI can accept an electron pair

from NH ;.
The correct option is
(a) I, Iland Il (by I, 1land IV
(c) I, 1l and IV (dy 1,11, M and IV

Oxides of Nitrogen

80. I. N,Ois a linear molecule.

II. Its resonating structure is

ﬁ=N#6 e :NEN—b.:

III. Bond length of N—N and N—Ois 113 pm and
119 pm respectively in N, O.
The correct statement(s) is/are

(@) Onlyl (b) Only Il
(c) Only Il (d) All of these

Level 11

81. Oxide of nitrogen which is soluble in alcohol is
(@ NO (b) NO, (©) NyDs @ NO

82. N,0, molecule is completely changed into two

NO, molecules at

(@) —10°C (b) —40°C (c) 140-150°C (d) 420°C

83. The correct order for the decreasing acidic strength
of oxides of nitrogen is
@ NOs >NO4 >N,0, >NO >NO
(b) NO >N >NO3 >N, >NO¢
(¢) NO >NO >N,0, >NO, >N0;
(d) NOg >N, >N05 >NO >NO

84. The dimerisation of NO, as the temperature is

lowered is accompanied by

(a) adecrease in pressure

(b) the formation of a colloid

(c) an increase in pressure

(d) adecrease in paramagnetism

85. ...M... oxide of nitrogen is called mixed anhydride.
Here, Mrefers to

(@ NOg (b) NO (c) NO,

(d) NO,
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86.

87.

91.

92,

Master The NCERT Chemistry vol-l (Cl
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Nitric Acid

HNO,. H,N,0, and HNO, are the ...I... of

nitrogen. Here, I means
(b) oxoacids

(@ oxyacids
(d) None of these

(c) acids
In the laboratory, HNOyj is prepared as
(@ NaNQ, +H.S0, —— NaHS0, + HNO,
() 3NaNO, +2H.S0, —> NaHSO, +HNO;
(©) NaNO, + H.SO, —> 2NaHSO, +3HNO,
(d) None of the above

. Commercially, nitric acid is prepared by

(&) Haber's process (b) Contact process
{c) Ostwald's process (d) None of these

. In the reaction,

4NH3(8)+(502(.§) —L> 4NO(g) +6H,0(g)

from air;
I refers to the catalytic conditions of the reaction.
Identify L.
(a) Ptgauge catalyst, 200 K, 4 bar
(b) PY/Rh gauge catalyst, 500 K, 9 bar
(c) PYRh gauge catalyst, 500 K, 4 bar
(d) Rhgauge catalyst, 200 K, 9 bar

. Following statements/properties are about nitric

acid
L. Its freezing and boiling points are 355.6 K and
231.4 K respectively.
I. Laboratory grade nitric acid contains ~68% of
HNOj; by mass.
II. It has a specific gravity of 1.504,
The correct set of properties of HNO, is
(@ landll  (b) llandlll  (c) land Il (d) I, |l and IIl|

In the gaseous state, HNO, exists as a ...A...

molecule. Here, A4 refers to
(a) planar (b) square planar
(c) trigonal pyramidal (d) trigonal bipyramidal

Assertion (A) Conc. HNO; attacks all metals

including noble metals like gold and platinum,
Reason (R) Conc. HNO, is a strong oxidising
agent. )

ectexplanation of A
orrect explanation

Some metals (like Cr, 4]) 4

3. Assertion (A) o
R trated nitric acid. 0 ny

dissolve in concen
Reason (R) A passive film of oxide is fofmed
the surface. %
Choose the correct option.

(a) BothAandRare correct: R isthe correct exp'anaﬁonm
(b) Both Aand R are correct: R is not the correct EXDIanaﬁm

of A
(c) A is correct; R is incorrect
(d) Ris correct; Ais incorrect

94. Complete the following equations using correcy,
of I, I, IIl and IV as shown below in the place f i
B, Cand D
(i) I, + 10HNO; —> ...A... + 10NO, + 4
(i) C+4HNO; — ...B...+2H,0 +4Ng,
(i) Sg +48HNO; ——> ...C....+48NO,

+16H,0
(iv) P, + 20HNO3 —> ...D... + 20NO, + 4H,0
I. 4H;PO, II. 8H,80,
II. CO, IV. 2HIO,

The correct set of option is
(@ A-L;B-I1;C=ll;D=IV (b) A-Il;B-IV;C-ID-I
(© A-lIEB-1;C-1;D-IV (d) A-IV;B-1Il;C-IkD-

95. Brown ring test for nitrates depends on
L. the ability of Fe?* to reduce nitrates to nif
oxide.
IL. it reacts with Fe2* to form a brown colou
complex.

Which of the above statement(s) regarding b
test for nitrates is/are true? Choose the o™

option.0
(@) Only| (b) Only Il
(©) Both land || (d) Neither | nor

96. NOj +3Fe®* + 4H* —, NO +..L.+ 2
[Fe(H2O)6]2+ +NO — _IL.+H)0

Here, I and IT refer to
(@) 1= 3Fe; Il - [Fe(H,0), (NOY?*

(brown)
0) 1=Fe*; Il - [Fa(H,0),(NOJIZ*
: (brown)
() 1-2Fed; |- [Fe(H,0)s(NO)12*
(white)
(d) | -2Fe?. |j_ [Fe(H,0) (I:IO)]2+
(white)
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(a) H,Sbo, HyPO,  HAA: ,0 HNO,

() H,5h0O, . H,ASO, HPO, HNO,
() HNO, H.SbO,  H,AsO, HPO,
(d) HPO, HASO, . H,ShO, HNO,

101. Reaction of HNO, with C, P, S and I gives
respectively
(a) CO, HPO, H,S0, and HIO,
(by CO,, PO,, SO, and |05
(©) €O, HPO, H,50, and HIO,
(d) €O, HPO, , H,50, and HIO,

on passive.

) HNO, forms a protective layer of
c nitrate on the iron surface.

(@) BothAand Rarecorrect; Risthe correct explanation of A
(b) Both Aand R are correct; R is not the correct expl

of A anation
(c) Avis correct; R is incorrect 102. The correct statements about HNO ; are
Q) Riscomect Ais incorrect I. HNO, acts as a dehydrating agent

5 99 On heating HNO, with P. ,05, the oxide of IL. the proteins are converted into xanthoproteins
E nitrogen produced is III. HNOj acts as an oxidising agent
(@ NO, IV. it exists in two canonical forms
B O ND; The correct option is

(©) N, @ 1, lland 11 () I, Il and IV

@ N5 © I Illand IV (@ 1, 1land IV

Phosphorus Allotropic Forms

03. White phosphorusisa...4... solid. Here, Arefersto ~ 108. ...A... phosphorus possesses iron grey lustre. Here,
(@) translucent white waxy solid : Ais '
(b) translucent brown waxy solid ‘ @ Red (o) White  (c) Black  (d) Both (b) and (d)

i taiisparent brown waxy solid 107. ...I... phosphorus has two forms c.-and B-forms.
~ (d) transparent white waxy solid :
: Here, I refers to

04 P4 + 3NaOH + 3H20 > PH, + GV Tan (@) Red  (b) Black  (c) White  (d) None of these

~ Here, I refers to
(8 NaHPO,

(b) 2NaH,PO,

 (©3NaHPO,

- (@) None of the above

5. Assertion (A) White P is less stable an hence,

* more reactive than other solid. phases under

normal condmons el b S

~ Reason (R) There is an angular St}'ﬂm in the P,

- molecule. § yiasd waoss ot JHET M o

(@ BothAandR are correct; Ris m%cprrgct gmjanaqen of A wili #il A %Ml B m&the structures of

- (b) Both Aand R are correct. R is not the correct explanatlw (@) A-red phosphorus; B - white phosphorus

Y o Al MO Wosricht i (b) A -red phosphorus; B - black phosphorus

ofA
8l o (E’“A —white phosphorus; B — red phosphorus
) A black phoéphorus B —white phosphorus

+5
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Level 11 {1 Yellow phosphorus  exists  as tetrg
.o in a furnace molecular solid. thy
100: Hivhortide JERREEATE RS e Yellow phosphorus is less reactive
(a) bone ash, silica and coke [II. Ye horus hap N
(b) bone ash, silica and lime hosphortt> Py 4
() bone ash, coke and limestone IV. B]ack phOSphOTUS as layer type SthtUre
(d) bone ash, coke and sodium chloride = wproch statemnents are ;
e
110. White P is more reactive than Ny because @ I, I1and IV EZ; : :Illandd|:l
,Mland v
(a) ionisation energy of P is low () Il and v
(b) P—P bond is weaker than N=N 113 ik s used in the manufacture 3 %
matches. Here, M refers to i

(c) electronegativity of P is low
(d) All of the above

111. White phosphorus contains ...4... molecules and is
usually preservedin...B.... Here, Aand Brefer to

(a) A-P;; B—water (b) A-P,; B-benzené
(c) A-B,; B—water (d) A -P; B—kerosene

112. Consider the following statements regarding

phsophorus,
I. Phosphorus exists in different allotropic forms.

(b) Red phosphorus

Black phosphorus
(a) (d) Selenium

) White phosphorus

i ive, less volatile and |
114. Red P is Jess reactive, ) ess soly,
in non-polar solvent than white/yellow P beCaEEl

(a) it has high molecular energy
(b) it has low molecular energy

(c) it forms condensation products

(d) it possesses highly polymerised structures

(c

Phosphine

Level 1

115. Phosphine is prepared by the reaction ofed =
with water or dilute HCL. Here, A refers to
(a) calcium phosphide (b) sodium phosphide
(c) Either (a) or (b) (d) None of these

116. The laboratory method of preparation of

phosphine is

(a) Ca P, +6H0 —> 3Ca(OH), +2PH,

(b) Caf, +6HCI —> 3CaCl, +2PH,

(c) P, +3NaOH + 3H0 — PH; + 3NaHPO,

(d) None of the above

117. Phosphine is
I. colourless gas

III. highly poisonous
The correct option is
(@ land Il
(c) landlll

118. Phosphine is used in
(a) holme's signals
(c) Both (a) and (b)

II. rotten fish smell

. (b) Iland Il
(d) I, 1land Il

(b) smoke screens
(d) Neither (a) nor (b)

119. Statement I PH, acts as a Lewis base in the

reactionPH; + HI — PH,I

Statem_ent II It happens due to the presence of a

1 Rt o AT T
i

hosph e

Which of the above statement(s) is/are correct?

(@) Onlylis true (b) Only Il is true
(c) Both land Il are true (d) None of these

Level 11

120. Phosphine is obtained when [MP PMT198%

L. red P is heated with NaOH
II. white P is heated with NaOH
III. Ca 3P, reacts with water
IV. phosphorus trioxide is boiled with Wat"
The above mentioned correct statements °
(@) I, Iland Il (o) II, llland IV
@ I llland IV (d I, lland IV
121. With respect to protonic acids, which i
following statements are not correct?
I PH, is equally basic as NHj.
IL. PHj is less basic than NH;.
III. PH; is more basic than NH;-

IVEPH 45 amphoteric while NH3 1 basic

990]
Choose the correct option. e
@ I, 1land |1 (b) II, i and IV
© I, lland v (d) 1, nand v
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B used in Holme’s ¢;
i ((;af)hosphine tE's signals ang Smoke screeng jg

(b) ammonia

(c) either (@) or (b)

(d) phosphine in Holme's signalg

screens € ammonia in smoke

123. PH, is basic in nature because
a) it forms PH, |l with H|
)

(
(b) it has alone pair on phosphorus B
(c) Both (@) and (b)

(d)

d) None of the above

P-Block Elements

223

124, Phosphine is ...A... basic and like ammonia gives
-..B... compounds with acids. Here, Aand Brefer to

(a) A-weakly; B-phosphonium

(b) A-strongly; B-phosphonium

(¢) A-strongly; B-phosphate

(d) A-weakly; B-phosphate

125. PH, produces smokey rings when it comes in

contact with air because [IIT JEE 1998]

(a) PH, reacts with water vapours

(b) PH, reacts with N,

(€) PH, burns in air

(d) PH, contains impurities of PH, which undergo
spontaneous combustion

Phosphorus Halides

Level I

126. Phosphorus forms ...4... types of halides. Here, 4

refers to
(@) two (b) three
(c) four (d) five

127. ...M...is obtained by the action of dry chlorine (not
in excess) over heated white phosphorus. Here, M

refers to
(@) PCl, (b) PClg
(c) POCl, (d) None of these

128. The shape of phosphorus trichloride is
(@) tetrahedral (b) pyramidal
(c) trigonal pyramidal (d) linear

129. PCl, isa ...4... white powder. Here, Ais

(@ brownish (b) bluish (c) yellowish (d) greenish

130. Complete the following reaction,

PCI; _Heat | product(s)
The product(s) is/are
(@ P (b) Cly
© Poc33|3 (d) Both (a) and (b)

BL In gaseous and liquid phases, the structure of PCl; is
(@) trigonal pyramidal

(b) tetrahedral
(i
(

¢) trigonal bipyramidal
d) trigonal

182, The three ... 4... P—Cl bonds are equivaleglt, ‘ghl'le
the ...B... bonds are larger than ...C... bonds In

PC]

Here, 4, Band C'means

(@) A-axial, B—two equatorial: C — axial

(b) A —equatorial; B —three equatorial ; C — axial
(c) A -equatorial; B —two axial; C — equatorial
(d) A - axial; B —three axial; C — equatorial

133. In the solid state, PCI; exists as an ionic solid

[PCL,]* [PCls]~ in which the cation, [PCL,]* is
...I... and the anion, [PCl¢] ™ is...II... . Here, I and

II refer to

(a) |-tetrahedral; Il - linear

(b) |- tetrahedral; Il — octahedral
(c) |- octahedral; Il —tetrahedral
(d) |- octahedral; Il - linear

Level 11

134. Hybridisation of P in PCI; is

(@) sp%d® (b) sp>
(© sp® (d) sp’d
185. Assertion (A) PCl; is covalent in gaseous and
liquid state but ionic in solid state.
Reason (R) PCI; in solid state consists of tetrahedral

[PC1,]* cation and octahedral [PClg]" anion.

(a) BothAandRare correct; R isthe correct explanation of A

(b) Both Aand R are correct; R is not the correct explanation
of A

(c) Ais correct; R is incorrect

(d) Ris correct; A is incorrect
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fumes in moisture becauge
136. PCls is prepared by the action of Cl, on 138. PCl, = ;
) P (a) it gets hydrolysed in the presence of Moisty,
@ RO, (b) PCI, furnes of HCI * Uy
(©) HPO, (d) RO, (b) it gets hydrolysed in the presence of Molstyrg
137. Solid p(_“,l5 exists as fumes of Cl, gas Oiv
@ PCl, (b) [PCl, " O

(© [PCL,)* and [PCI, - (@ (POl (d) None of the above

Oxoacids of Phosphorus
Level 1

139. Match the terms of

Column I with the terms of COdZS B C D
‘ .
A Column IT and choose the correct option from the SR
I codes given below:. G 4 2 3 1
Column | Column Il () 3 L e
<, (Formula) (Oxidation state of P) d 1 SIS A
4 A, H,PO, T
B. H PO, 2. +3 141. The structure shown below are of
C. H,PO, BAEY
D. H,PO, 4 +5
' Codes
.‘ S S i) Aviimdiie
y (@ 1 23 (b) 2 3 4 1
ey 3 4 1 2 d) 4 = 3

140. Match the Column I with Column II and choose
the correct option from the codes given below.

Column | Column Il
A 1. H3PO,
orthophosphorous
acid
B. 2. H4PO,
hypophosphorous

acid

4 The correct choice is |
"/ o @) A -polymetaphosphoric acid, B — pyrophosphoric act

ic
(b) A - Polymetaphosphoric acid, 5 — cyclotrimetaphosp™
acid
e, & FERQy (©) A - orthophosphoric acid, B - pyrophosphoric ac?d
ggtll’&ophosphorlc (d) A- pyrophosphoric acid, B — orthophosphoric acid
. : B. ¥
142, | 47 s orthophosphorous acid and -
Pyrophosphoric aciq. Here, A and Bare
D. 4. H,P,0,

(@) A- HPO,: 8- HPO,
(b) A~Hgpo,; B8-HPO,
(©) A-HPO,; BH,RO,
: ' L (d) A- H,PO,; B-HPO,

pyrophosphoric
acid
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e the correct o;:ie of Colupmy,
olumn| | ———
haracteristic | g
onds and thejr Olumn )
number) feparation)
. Four P<OH [ 57—
TwoP—=0 . POy, +H0
One P—p '
Three P—QH
OneP=0 Il PCI, 4 HPO,
Two P—OH
Two P—H W red P, + aikai
TwoP=0 '
=
A A B C
a2t 10 M ©® 300 20 1
@ 10 oty 3D @ 3y 1 9q

el

m The correct structure of cyclo trimetaphosphate is

O\P/O“ 106105
o/ \o o/ P\O
il o0l | o
. < P <
0 o~ B OF o o~ P\o—
| O\P'/O O\P/O
B o
0
o) L0 o>P 2
o~ o~ 20 QX e 2

P-Blogk Element.s

145,

148,

147,

148.

225

Phosphomux acid is syrupy because of
(@) van der Waal's forces

(b) strong covalent bond

(€) hydrogen bonding

(d) None of the above

There is a slight difference in acidic strength of the

H,PO,,H,PO, and H,PO, because

(@) number of unprotonated axygen atoms
increase of acidity due to |r|r]‘|,:‘h\/ﬂ, effact, remalns
same

(b) phosphorus oxides are less basic

(c) phosphorus in these acids exists in different oxidation
states

(d) phosphorus is not a highy electronegative element

respansible for

tha

In trimetaphosphate ion, the number of O atoms,
P—O—P bonds and unit negative charges are
respectively

(a) 3,6,3

(b) 9,6,3

(c) 6,6,3

(d) 9,3,3

Assertion (A) H;PO, is a dibasic acid.

Reason (R) Two H-atoms are directly attached

to P.

(@) BothA and Rare correct; Ris the correctexplanat

(b) Both Aand R are correct; R is not the correct explanation
of A

(c) Ais correct; R is incorrect

(d) Ris correct; Ais incorrect

ion of A

Group-16 Elements

. Oxygen, sulphur,  selenium, tellurium 'a;'_d
polonium constitute group ---L--- of the PeriodiC
Table% These elements are also known a$ Ht;
deri.\{ed from ...III... word for .1V and Pou'lth
ihe association of sulphur and its congeners W!

e the appropriate set Of words from the

Choiges given below to complete the passag®
' ok IV— caopperi Y —Eree

o =15, 1|~ chalcagens; Ill - Greek:
: \.— copper
:2)) il - chalcogens; IIl - Greek; IV~ oress; ¥ cszzepr
“1=16;11— picogens; Ill - Latin: IV = brags; V\; _prass
15; 11 - pnicogens; 11l - Latini IV = copper

[

il

ey

150.

Consider the following statements,
I. Oxygen is the most abundant of all the
elements on earth.
II. Abundance of sulphur in the earth’s crust is
only 0.03-0.1%
111, Traces of sulphur

in volcanoes. ! .
anic materials such as eggs, proteins, garlic,

occur as hydrogen sulphide

V. Or
: oni%n, mustard, hair and wool contain sulphur.
Which of the above mentioned statements are
correct? . ;

Choose the most appropriate option.

@ | I, IV ) I, 11 @ WLV @ LI, [Iland IV
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en has a covalency of
on (A) OXY8 o
7. Assertl ‘ ? _
151. Match the terms of Column 1 with the terms i Reason (R) d-orbitals a;? T::::rtel; el
i d :l se the correct option from the Both Aand Rare correct; R1s GXDIanat|°n
Cc:umr} Il a;; lt 1005 :g; Both A and R are correct; R is not the correct Dlang,
codes given below. IR v
Column | column Il ect: R IS incorrect
b G A's corr U
& S b o R s | :d; R is correct; A is incorrect
A Gypsum 1. CaSO,-2HDO p Statement I Acidic character increases from 0
B. Epsom salt 2. BaSO, 158. H Te 2
MgSO, : THL toXlglt: h :
C. Barytes 3. MgSO, 7HO Statement I The reason is a decrease in b,
Codzs ) enthalpy for the dissociation of H~E bond doyy
(@ A2 3 the group- '
® 3 2 1 Which of the above statement(s) is/are true?
o) =P <O | (b) Neither | norll
Only Il
@1 3 2 . on (d) Both Iand I

152.

153.

154.

155.

.

156.

I. Atomic and ionic radii of group-16 elements
decrease from top to bottom.
Ionisation enthalpy decreases down the

group 16.
The correct statement(s) is/are
(2 Only! (b) Both land Il
(c) Only i (d) Neither | nor Il

Assertion (A) Oxygen has less negative electron
gain enthalpy than sulphur.

Reason (R) Oxygen has a compact nature.

(a) Both A and Rare correct; R is the correct explanation of A

(b) Both A and R are correct; R is not the correct explanation
of A

(c) Ais correct; R is incorrect

(d) Riscorrect; A is incorrect

Oxygen has the second highest electronegativity
value amongst the elements. The highest
electronegativity value is of ...4... .

IL.

Here, A refers to
(a) chlorine (b) fluorine
(c) sulphur (d) None of these

The physical properties of group 16 elements are
I. polonium is a metal and is radioactive,
II. all these elements exhibit allotropy.
III. with increase in atomic number, the melting
and boiling point increases down the group,
The option with correct set of properties is

(a) land |l (b) land Il
(¢) land Il (d) I, Il and (1l

One element of group 16 shows
behaviour. Identify this element, anomalous

¢

159.

160.

161.

162

163

164.

All the hydrides (of group 16 elements) except
...I.. possess reducing property and this characte
IL.. from H,S to HyTe. Here, I and II refer to
(@) 1-H,Se; Il-decreases  (b) [ - H,O; Il - decreases

(c) 1-HO; Il —increases (d) I —HyTe; Il —increases

Arrange the following elements in the correct order
of increasing ionic radii.

Se, Te, P, O, S
(@) O <S<Se <Te <Po (b) Po <Te <Se <S<0
(c) S<O <Se <Te <Po (d) S<0O <Po<Se<Te

SO, is ...A... agent and TeO, is ...B...

Here, A and Brefer to

(@) reducing — A; B - reducing
(b) reducing —A; B - oxidising
(c) oxidising —A; B - oxidising
(d) oxidising—-A; B - reducing

The stability of the halides of group 16 elemer
decreases in the order
(@) Br™ >I= >CI >F-
(©) F~ >CI" sBr~ >

(b) F~ >I" >CI” >Br”
(@) IF >CI" >Br >F

'(I}Ifl On]Y.Sta‘blg hexahalide is ...I... Here, I refers®
a) hexachloride '
(€) hexalodide (b) hexabromide

(d) hexafluoride

Hexahalides of group 16 elements
L. are gaseous in nature.
IL. have octahedral geometry.
II SF, 6 1s €Xceptionally stable for steric reaso™

W hiCh of th o/are
e abov i nt(s) i

correct? e mentioned statement(

(@ land ||

(©) Only (b) Iland Ill

(d) I lland Il
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Pair of
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(b) Monohalides 3

- (@ Tetrahalides

tion (A) Elements of group-
value of first ionisation enth
al
ed to the corresponding periorc)i}; 2;
-16.
on (R) Group-15 elements have extra st
p-orbitals electronic conﬁg'urau:io:i.S Ele

and.R,are correct; Risthe correct explanation of A
Aand R are correct; R is not the correct explanation

ect: R is incorrect
» Alis incorrect

and polyatomic respectively
¢ and diatomic respectively

. i .-..I': 0 . _2
nly negative oxidation state as
yo’f ..g.,.-.A._...“where its oxidation
ere, Aand Breferto
St i 1(13)0’:2"/4: + 2"B

e ofoeAie B
| “31 h is absent

4 8V

227
174, 1. ‘
I. (;rmlp 16 elements form oxides of two
‘Ypf‘ﬂ.
I T ,
n:t:‘;:‘r)xulm of hoth the types are acidic in

I'he correct statement(s)
(@ Only |

(©) Both | and ||

i9/are
(b Cnily Il

() Nane of thesea

175, Polonium Occurs in nature as a decay product of
[ and ..II... minerals. Choose the most
Suitable words to complete the sentence.

@ |- rhOl'ium; Il =uranium (b) | - tharium; Il - selerium
(€)1 tellurium: I - selenjum (d) | =uranium; Il - tellurium

176. Oxygen and sulphur are ...4... : selenium and
tellurium are ... B... whereas poloniumisa...C... .
Here, 4, Band € are
(@) A- metals; B — nan-metals: C - metalloid
(b) A~ non-metals; B - metalloids: C — metal
() A= metalloids; B - metals; C - non-metal
(d) A - metals; 8 - metalloid: C - non-metal

177. Oxygen forms about .. A. . by mass of earth’s crust

while dry air contains ... 5. oxygen by volume.
The correct set of percentage is
(@) A-46.6%; B-20.946%

(b) A—20.946%; B - 46.6%

(c) A-10.12%; B-36.7%

(d) A-36.7%; B-10.12%

178. Galena is a sulphide of
(@) zinc
(c) lead

(b) copper
(d) None of these

Level 11
179. Sulphur is a solid while oxygen is a gas because

(a) molecular weight of sulphur is much higher than that of
oxygen

(b) oxygen is a stronger oxidising agent than sulphur

(c) oxygen is composed of discrete molecules whereas
sulphur is polymeric

(d) boiling point of oxygen is much lower than that of sulphur

180. Water is much less volatile than H, S because

(a) H,O has a bond angle of nearly 160°

(b) hydrogen is loosely bonded with the sulphur

(c) sulphur atom is less electronegatwg than oxygen atom
(d) sulbhur atom is more electronegative than oxygen atom

181. Sulphur exhibits valency of 2, 4 and 6 whereas
" oxy gen has a valency of 2 due to
(a) bemg more electronegative than S
(b) presence of g-orbitals in S

Is bigger atom :
Eg; g has higher ionisation potential
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182. A chalcogen combines directly with h\\‘df"ge“ to
form a hvdride but with a great difficulty. O“
burning in air, this chalcogen forms 3'90‘"1
polymeric dioxide and it also has the lugl}etﬁt
electrical resistance amongst the metals. This
chalcogen is

d) tellurium

3} Suiphy Q) selenium  (C) DOIOT

183. Assertion A) Oxven has highest electron affinity
among group-16 elements.
Reason R! Atomic radius is the smallest of
oxygen among group-16 elements.
a) Both AandRare comrect; Risthe correct explanation of A

D) Both Aand R are correct; R is not the correct explanation

'
[0

VI S

c) comrect; R is incorrect

(@ Riscorrect: Ais incorrect
P
' 184. The elements of group-16, which show negative
: oxidation state are
o L. Oxygen I1. Polonium
- III. Tellurium IV. Selenium
‘ Choose the correct option.

(@ L Hand i

(©) I.illand IV

(© Lilland IV
.

(@ LI Hand IV

185.

186.

187.

188.

Water has maximum density at
208 K (by 277 K
g Frak (d) None of these

A certain compound when burnt gjye
oxides. The first formed an acidic solutiop o &
pH, the second turned lime water milky angq &w
third turned anhydrous CuSO, blue. The ¢} emene
present in the compound are 4
(a) S.Cand H respectively  (0) C.Sand H respecy;

‘ Vely
(c) H.Sand C respectively  (d) S, H and C respegy;

ely

In the Kipp’s apparatus, the reaction gets Stoppeg

on closing the outlet because

(a) gas starts coming out from top

(b) the contact between sulphide and the acid is P L
the presence of gas collected in the free surfaca qf 4.
middle chamber

(c) the acid becomes weak

(d) a protective film is formed on iron sulphide

On adding Na,S to sodium NItroprussige
solution

(@) Na, [Fe(CN);NOS] complex is formed

(b) [Fe(CN);NOS]*~ complex is formed

(c) aviolet colour is formed
(d) All of the above

Dioxygen

Level 1

189. Hydrogen peroxide is readily decomposed into

water and dioxygen by catalyst(s)
(z2) manganese dioxide (b) finely divided metals
(c) Both (a) and (b) (d) None of these

190. 250, +0, -1 950,

4HCl+0, - 901, +9H,0
Here, I and II are

@ 1-CuCly; 1=V, (b) 1=V,05: 11 -CuCl,
(e) 1-VO;ll ~MnO, (d) 1-MnO,; II-CuCl,

191. Assertion (A) To initiate the reaction between O,
and a metal, some external heating is required.
Reason (R) Bond dissociation enthalpy of O==0
bond is high (493.4 kJ mol o,

(@) BothAand R are correct: Ris the correct explanation of A -

(b) Bfoth Aand R are correct; R is not the correct explanation
of A

(c) Als correct; R is incorrect
(d) Ris correct; A is incorrect

192.

193.

194,

Oxygen is used in
(@) oxyacetylene welding
(b) the manufacture of steel

(¢) oxygen cylinders in hospitals, high altitude flying an¢
mountaineering
(d) All of the above

Which of the following does not react with oxyge!
directly?
(@ Zn (b) Ti (© Pt (@) Fe

Level 11

Consider the following statements about 0xyge"
L. oxygen was discovered by Priestley.

II. oxidation state of oxygen in O, F, is -2.

I, among chalcogens, oxygen has maximu”
tendency to show catenation. y

Which of the above statement(s) is/are corret”

Choose the most appropriate option.

(a) Only | ®) Onlyll () land Il (d) land !
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from other Reason (R) Covalency of oxygen o ,d,, ~ ation of A

Both arrect: R is the correct 8xp
> et syrrect; R is not the corred -t gxplanation
(8

‘*"dm n) Both Aand Ramec
of A
mhd*m ) A s cormect: R i incorrect
=y R ig cormect A 8 incormect
-y 197. In OF, molecule, the total number of lone pairs
R & i mdbond‘ p-irlofelecu'ompre:entre!P““"’ly e
Phhm‘ a -_\S ‘b\qz B.’ ‘d) 9v2
p—— . bond length in
& N e 198, Correct decreasing order of O—( bon

,O, and H,0, is
- 2 (Al Di-segative amion of % i lese 2\‘0 :H,O; >0’; . @) HO, >0, >0
o hm_‘o’_.# i) Hb’ >O; "‘O: (m OJ .’Oj thH;O;

o]

Simple Oxides

Level II

most acidic respectively?

E CN:O-); II.(H,O) IIL(KQO) . (CaO);

V. SO,

Choose the correct option.

& Haxdll

@ tand ¥V

Bl Q WandV

‘ @ Wandl

203. The tHoxides which can exist as monomeric
molecnle &
& SO.inga=ous si==
@ =0,

3 Ads o) S0, i salid st=ie

‘ A @ S0,

= spmd.rc

205. When 2 slow dry sweam of oxygen is passed
throngh 2 slent electric discharge, conversion of
exygen @ ozome (10%) occurs. The product is
kmownas . 4 Here, 4refers to

@) =masss oagen ©) oiatomic oxygen
ﬂ“ﬂﬂﬂ @) Neither (@ nor (b)
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jo) Block Elements

SNO%Y en ShO_WS aﬂ@ﬂﬁlmw behaviour from other
155, me'nﬁ’ers of its family because
e e w an 1 alene
‘ . oxygen shows maximum vale ncy of two,

1L among chalcogens, oxygen is of the smallest
size.

oxygen exhibits allotropy.

oxygen has no vacant d-orbital,

.
IV. ; o
The correct option explaining the reasons is
) 1 and Il L) I lland v

{
© 1 and IV (d) All of these

96 Assertion (A) D1-1.1egativ'e anion of S?° is less
common whereas di-negative anion of O* is quite
Common.

197.

198.

1 wvyvoe -S two.
Covalency of oxygen 1 S gy
act explanatlon

mlanatior
correct explanation

Reason (R)

(a) Both Aand R are cor

(b) Both A and R are correct; R
of A

f(‘) A 18 COrr

(cl) Riscorrect; Alsinc

rect: R 15 the corr

is not the

ect, R is Iinc arrect
orrecl
| number of lone pairs

trespeCti‘/EiY are
(d) a9 2

In OF, molecule, the tota
and bond pairs of electrons presen
(a) 2,8 (h) 8, 3 (c) 8,2

__O bond length in

Correct decreasing order of O
0,,0, and H,O, is
(a) O, >H,0, >0,
(c) HO, >0, >0,

(b) HQOQ >Ofg 203
(d) O'g )Oj )H?O,'

Simple Oxides

vel

Level 11

199. Which of the following oxide is amphoteric in ~ 202. Which of the following oxides is most basic and

nature?

(a) Cl0; (b) NaO © NO (d) ALO,

900, Consider the following statements and choose the

correct option.
(@) Some oxides are acidic
(c) Some oxides are neutral

(b) Some oxides are basic
(d) All of these are true

201. I Neutral and amphoteric oxiﬂes are same in
nature.
II. NO, CO and N, O are neutral oxides.

Which of the above mentioned statement(s) is/are
true?

(@) Only |

(c) Both | and Il

(b) Only Il
(d) Neither I nor |l

most acidic respectively?

I (N,0;); IL (H,0); I (K,0); IV. (CaO);
V. (SO;)

Choose the correct option.

(@) lland Il
(b) land V
(©) llland V

" (d) Vand |

203.

* Ozone (0,) is

@) an allotropic form of oxygen

) ltoo reactive to remain for long in the atmosphere at sea
evel
formled from atmospheric oxygen in the presence of
Sunlight at a height of about 20 km '
Allthe above statements are correct

(©)

205.

The trioxides which can exist as monomeric
molecule is

(@) SO, in gaseous state

(b) TeO,

(c) SO; in solid state

(d) SeOq

When a slow dry stream of oxygen is passed
through a silent electric discharge, conversion of
oxygen to ozone (10%) occurs. The product is
known as ...A4... . Here, 4 refers to

(@) ozonised oxygen
(¢) Both (a) and (b)

(b) diatomic oxygen
(d) Neither (a) nor (b)

Scanned with CamScanner



A IEI m E %“ rortifiad that «

230

206.

207.

208.

209.

Assertion (A) It is necessary to use a silent

electrical discharge in preparation of ozone to
prevent its decomposition.

Reason (R) Formation of ozone from oxygen is an
exothermic process.
(@ BothAandRare correct: R Isthe correct explanation of A

(b) Both AandR are correct; R is not the correct explanation
of A

(c) Aiscorrect: Ris incorrect
(d) Riscorrect: Ais incorrect

Pure ozone is a pale blue --4..., dark blue ...B...
and violet-black ...C .. . Here, 4, Band Crefer to
(@) A-solid; 8-liquid: C- gas

(b) A-gas; B- liquid; C - liquid

(©) A-gas; B-solid: C- liquid

(d) A-gas; B- liquid; C - solid

Statement I Decomposition of ozone into oxygen
results in the liberation of heat and an increase in
entropy.
Statement II Ozone
unstable.

Which of the statement(s)
(@) Only|

(b) Only Il

(c) Bothland Ii

(d) Neither | nor ||

is  thermodynamically

is/are correct?

Uses of ozone (O, ) includes

L as an oxidising agent in the manufacture of

KMnO, .

II.as a germicide,
sterilisation.

I1I. for bleaching oils, flour, ivory, starch, etc,

The correct set of uses of ozone is

(@) land | (b) Il'and III

(c) land Il (d) All of these

disinfectant and  for

Level 11

210. The true statement(s) for ozone are
L Itis an endothermic compound,

II. 1t is obtained by silent electric discharge of
oxygen.

211.

212,

213.

214,

215.

Master The NCERT Chemistry vol.ii (Class XI1)

IIL. It cannnot be considered as an a-UOtmpe "

IV. It can be obtained by the action of Uy e 02.
oxygen. Yo

Choose the correct option.

@ I, Iland Il

(b) I, 11l and IV

() I, Il and IV

(d) All are true

...... metal looses its meniscus after Teaction

ozone. Choose the correct word to fill the b

(@) Mercury

(b) Copper

(c) Silver

(d) Lead

With

lank

Starch paper moistened
blue in 0zone because
(a) alkali is formed

(b) iodine is liberated

(c) ozone reacts with litmus paper
(d) oxygen is liberated

with solution of KT tupy

...4... part of atmosphere consists of .. B, layer
which does not allow harmful radiation to reach the
earth’s surface. Here, 4 and B refer to

(a) Stratosphere —A; ozone -8B

(b) Stratosphere —A; sulphur-8

(c) Troposphere — A: sulphur-8

(d) Troposphere - A: ozone — B

Angular shape of ozone molecyle consists of

[T JEE 2009
(@) 1sigmaand1-x bond
(b) 2sigmaand?-n bonds
(c) 1sigmaand 2~ © bonds
(d) 2sigmaand 1 - x bond

Consider the following statements about ozone
I. O; is formed by the interaction of fluorine:
IL. It turns tetramethyl base paper as violet
III. It turns benzidine paper as brown.

The correct set of true statements is
(@ land ||

(©) Il and |1}
© I, 1l and ||
(d) I and I11
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SUIphur-Allotropic Forms

orms only two typ
; S es of allot
Rhombic a.nd monoclinic sulphur ar Y(})lpes. 220. Both rhombic and monoclinic sulphur have
f allotropic sulphur. € the types molecules. Choose the suitable option to complete
. the sentence.
ich of the above stateme ’
t ¢
Choose the correct option. nt(s) is/are true? fi; 24 ;?) 26
3 d) S,
(@ Only! (b) Only I g 3
() Both ! and Il (d) Neither | nor || 221. S, ring in both the allotropic forms of S is puckered
7 Colour of thombic sulphur is ?.I)ld has a ...A... shape. Here, A refers to
0 a) C b) boat
(a) yellow (b) white (©) c;OaVinT Edj N(r)Jane of these
(c) black (d) yellowish white
918, Assertion (A) Sulphur shows paramagnetism. Level 11
Reason (R) In vapour state sulphur partly exists as cets il il
Sy molecule which has two unpairedelectrons 222, Ausl.sclalrtion' (A) Both rhombic and monoclinic
.- the antibonding e e sulphur exist as Sg but oxygen exists as.Oz.
) Reason (R) Oxygen forms g pm multiple bonds
@) Both Aand Rare correct; R isthe correct explanation of A .
(b} Both Aand R are correct; R is not the correct explanation due t(.) small size and small bond length but /747
of A bonding is not feasible in sulphur.
(c) Ais correct; R is incorrect (a) BothAand Rare correct; R isthe correct explanation of A
d) Ris correct; A is incorrect (b) Both A and R are correct; Ris not the correct explanation
of A
919. I Melting point of thombic sulphur is higher than (c) Ais correct; R is incorrect
that of monoclinic sulphur. (d) Ris correct; Ais incorrect
 IL Specific gravity of thombic sulphur is lower 223, Structure of sulphur molecule is
than that of rhombic sulphur. (a) spherical
The incorrect statement(s) is/are ‘ (b) W-shaped ring
(@) Only | (b) Only ! EZ; tettfi‘:efra'
(c) Both land Il (d) Neither I norll CURICA

Sulphur Dioxide

ove

%4, Two methods of preparation of SO,
L 4FeS,(s) + 110,(g) — 2Fe20s |

L SO%‘(M) + 9H" (aq) — H,0(!) + SO, (g) (c) angular
rymethod 226, INaOH +50; — ... +H20

Categorise these reactions into Jaborato e

and industrial method of preparing >~ Wi _B..+H,0+80, —> 2NaHS0;

: hdp of options given below. Fill in the blank with the suitable words to complete
the reactions.

are given below  225. The molecule of SO, is

(s) + 8502(&’) (a) planar (b) pyramidal

(d) None of these

; @ |- l:ndustrial; || - laboratory
) |~industrial ; Il - industrial (@) A-Na,SOgi B-Nay,S0; (b) A= NaHSO4; B —Na,SOs
C) |~ laboratory; Il - industrial (c) A-NaySO, ;B - Na O (d) A-NaHSOg; B-NaySO,

@1~ laboratory; Il - laboratory

i 1
sl o'
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227.

228.

Master The NCERT Chemistry vol-nn (Class XID

The behaviour of sulphur while reacting with water
and alkalies is similar to that of
(a) CO ® 0, ©) O,

SO, is a resonance hybrid of the two canonical

(d) CO,

forms

@ o

Identify the catalyst from the options given below.

(@& VLO; (b) CuCl,
(c) MnO, (d) Either (a) or (b)

Level 11

230.

Which of the following statements are correct for
SO, gas?

L. It acts as bleaching agent in moist conditions.
II. Its molecule has linear geometry.

231.

232.

233.

[11. Its dilute solution is used as disinfectan,

[V. It can be prepared by the reaction o .
H, S0, with metal sulphide. Chhlte

The option with correct set of statements i
(a) andlll
(b) Il and IV
(c) land IV
(d) Il and I

On passing SO, gas through an acidified soluti,
(a) the solution gets decolourised
(b) the solution becomes blue

(c) SO, is reduced
(d) green Cr,(SO, )5 is obtained

Ramesh passed moist coloured flowers throug ,

gas of SO, the flowers get decolourised becam_g,.l
[CPMT 2008

(@) SO, oxidises flower colouring matter

(b) SO, reduces flower colouring matter

(c) SO, absorbs colouring matter

(d) SO, gives colourless product

On passing SO, gas through cupric chlorid

solution

(@) the solution becomes colourless

(b) the solution becomes colourless and a white pet. ofCLl
is obtained

(c) no visibile change takes place

(d) a white ppt is obtained

Oxoacids of Sulphur

Level 1

234. Match the terms of Column I with the terms of 235. Match the Column I with Column II and cho*

Column II and choose the correct option from the

code given below.
Column | Column Il
(Oxoacids of sulphur) (Formula)
A Pyrosulphuric acid 1. H2S0,4
B. Sulphuric acid 2, HS0,
C. Peroxodisulphuricacid | 8. HS0,

LT T 9 i Y

D
1
1

o

the correct option from the codes given below-

Column |l

Column | “
(Oxoacids of sulphy!

(Structure)

1. Peroxodisulphu
acid

o 9

B. ‘ 2, Su,phuric acid
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Column |
(Structure)

Colu n
Olumn ||
\_&O_’f“_fﬂ'ds of Sulphur)

3. Sulphurous acid

4. Pyrosulphuric aid

e C D
@ 1 PainS o4
b) 3 IR L S O
(& A0S Ll
T R

236.

283

Oleum is ch(‘.mi(:ally known as
(@) pyrosulphuric acid

() peroxodisulphuric acid

(b) sulphuric acid

(d) sulphurous acid

Level 11

237.

238,

Peroxoacids of sulphur are
(a) H,/,;'i)()(q and H,50;
(c) H.-)\()Q()/« and H)-f:;()ﬁ

(b) H;; 0, andH SO,

(d) H.50. and H SO

Consider the following statements,
I. S—S bond is present in H;5,05.
I1. !n.peroxodisulphuric acid (H;S,0; ) sulphur
is in +6 oxidation state. '

The correct set of staternent is
(@) Only|

(b) Only I

(c) Bothland Il

(d) Neither | nor I

Sulphuric Acid

Level 1

.

w2, Pl‘Opérties of sulph

239, Sulphuric acid is manufactured by the

(b) Ostwald's process

(a) Contact process
(d) None of these

(c) Haber's process

240. The key step in the manufacture of Hy SO, is

airto generate SO,

(@) burning of sulphur or sulphide ores in
to give SO; in the

(b) catalytic oxidation of SO with 0,
~ presence of V;Os

(c) absorption of SOz in HySOs
(d) Either (b) or (c)

to give oleum

241. Consider the following equation,

S ibVE0
250, (g) + Oal) —22> 23058
Which of the following statement(s) is/are incorrect
about the above equation?
(@) This reaction is exothermic and e
(b) AH® value for this reaction is =196 s
(©) Lowtemperature and high pres e
maximum yield
(d) None of the above

i ble for the

icacidare. - ecific
L a coloured, dense; oily liquid U
gravity of 1.84 at 298 K.

1L freezing point is 283 K

L
y

s -'»;H . boiling point is611 K

t
2 R

243.

244.

246.

IV. it dissolves in water with the evolution of a
large quantity of heat.

The correct set of properties is
(@ |, lland Ill (b) Il 1l and IV(c) I, Illand IV (d)

Assertion (A) HySO, is a stronger acid and has
high dissociation constant (K,, >10).

Reason (R) Greater the value of dissociation
constant (K, ), the stronger is the acid.

(@) Both Aand R are correct; R is the correct explanation of A
(b) Both Aand R are correct; Ris not the correct explanation

of A
(c) Ais correct; R is incorrect
(d) Ris correct; Ais incorrect

o series of salts, namely

|, lland IV

The acid forms tw
(a) normal and acid sulphates
(b) normal and basic sulphates
() acid and pasic sulphates
(d) None of the above

The characteristics of Hy SO, responsible for the

chemical reactions of Hy SO, are

a) low volatility F
Eb) strong acidic character as well as affinity for water

(c) ability to act as an oxidising agent
(d) Allof the above

__—‘
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246.

247,

248.

Master The NCE

H,SO
2774y Products

CI2H22011
Product(s) of the reaction is/are
(@) 12C + 11H,0

(b) 11C + 12H,0

(c) 5CO + 7CO, + HLO

(d) COp +HO

H, S0, is used in

(@) petroleum refining
(b) manufacture of
intermediates
(c) detergent industry
(d) All of the above are the uses of H,SO,

paints, pigments and  dyestuff

An example of acid sulphate is
(@) sodium sulphate

(b) copper sulphate

(c) sodium hydrogen sulphate

(d) None of the above

Level 11

249.

250.

251.

252.

On adding of conc. H,SO, to a chloride salt,

colourless fumes are evolved but in case of iodide

salt, violet fumes come out. This is because
(a) Hlis of violet colour (b) HI gets oxidised tol,
(c) Hlchanges toHIO, (d) H,SO, reduces Hl tol,

Hot conc. H,SO, acts as moderately strong

oxidising agent. It oxidises both metals and
non-metals. Element which gets oxidised by
conc. Hy, SO, into two gaseous products is

(a) Copper

(b) Zinc

(c) Sulphur

(d) Carbon

Oleum of fuming H, SO, is

(a) a mixture of H,S0, and HNO,.

(b) a mixture of conc. H,SO, and oil.

(©) H,SO, which gives fumes of SO,

(d) H,SO, saturated with sulphur trioxide, /.e., H,S,0.

On treating PCl; with H,SO,, sulphuryl chloride
(SO, Cl, ) is formed as the final product. This shows
that H2 SO4

(a) is a derivative of SO,

(b) isa monobasic acid

(c) has great affinity for water

pirections (@
questian
Assertion
Read these
choice as per

RT Chemistry vol-i1 (Cla

253.

254.

255.

256

257

258

ss XID)

3.254) In each of the fo]

s. 26 : e
N %ents are given one labellgq a:":ﬁg
b

wo lled as the R
he other labe eason
Y and ¢ fully and mark
nts carefully the copp
gtatertc gtructions. Otrey

following in
t: R isthe correct explanatio of

nd Rare correct; RIS
(a) BothAd R are correct; R is not the correct eXplangg

(b) Both A and lon
of A ;
y act: R is incorrect
(c) Alscor correct

(d) Ris correct; Ais in

Conc. H,SO, cannot be useq

Assertion (A)
e HI from KI.

prepar
Conc. HySO, acts as a strong

Reason (R)
oxidising agent.

Assertion (A) On heating NaCl(s) with cop,
H,SO,, HClis produced.

Reason (R) Conc.H,50, oxidises HCI produceq

to Cly.
H,SO, isa

I. dehydrating agent II. sulphonating agent
III. reducing agent IV. highly viscous liquid.

Choose the correct set of choices from the options

given below.
(@ |, [land Il
(b) II, llland IV
() I, llland IV
(d) I, lland IV

It is advised to add H,SO, while preparing?
standard solution of Mohr's salt to avoid

(@) hydration

(b) oxidation

(c) reduction

(d) hydrolysis

Sulphuric acid has great affinity for water becals®
(@) it hydrolysis the acid

(b) it decomposes the acid

(c) acid decomposes water

(d) acid forms hydrates with water

When conc. H, SO 4 comes in contact with su8*" lt
becomes black due to et e
(@) hydration

(b) decolourisation

(¢) dehydration

(d) hydrolysis
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17 Elements
B
ne, chlorine, bromin

] Y €, iodj
,be_:&pf group ., 4’ ‘;‘I‘llge and - astagine
lere, A and Brefe, to e known g

. Q‘N B rg\t:::l‘glz elements steadily increase with atomic

Statement 11 A|| halogens are coloured.

The incorrect statement(s) is/are

(@) Only || (b) Only |
lﬂ}é ‘Statements e to (©) Neither | nor 1| (d) Both | and ||
S g roup-17 265. Assertion (A) Electron gain enthalpy of fluorine is
containg : i €8s negative ag compared to the chlorine, fluorine
1 M ChIOpdes, bromiceg and is a stronger oxidising agent than chlorine.
gosmm, Potassium, magnesium g
but amly sodium chlog, i iy Reason (R) 7§ pond has low dissociation

dried up se enthalpy and F hag high hydration enthalpy.
p r gi??mam Carnallite, (@ Both AandR are correct; R is the correct explanation of A

(b) Both A and R are correct; R is not the correct explanation
f marine life contain iodine in of A
‘ i i (©) Als correct; R is incorrect
R R .

@) Ris correct: A is incorrect

- 266. Statement I All the halogens exhibit -1 oxidation
state.

Statement II The oxidation states of +4 and +6

occur in the oxides and oxoacids of chlorine and

bromine.

B - The correct statement(s) is/are

o ~ (a) Only!

(b) Only i

(c) Both I and Il

_ (d) Neither [ nor ||

%'.7 The decreasing oxidising ability of the halogens in
aqueous solution down the group is evident from

...4.... Here, 4 refers to

ard el_e;.ct;ode potential

ation state

@or )

e of the above

ion with water,

 oxidises water to oxygen.

ine and bromine react with water t5 form

Q‘n%ﬂg hydrohalic and hypohalous

s d
line with water is spontaneous.
g i

tioned statement(s) is/are

mnisation entha
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236 Master The NCERT Chemistry Vol-1l

; ¢ 1 Halogens combine o
A . . 277. Statemen ber
269. The anomalous behaviour of fluorine is due to emselves 10 form a num of COmPOUIE:

known as interhalogens of the types bo )0(3’
XX’ and XX7"

(a) its small size
1

(b) its highest electronegativity .
an-availabiiny

yn enthalpy ana n

(©) low F—F bond diSsociatic larger size halogen anq X
8

isa
of d-orbitals in valence shell Statementllf IX en
¢ : , . ; |
(d) All of the above sma]ler gize na g ( ) ' /
are
: ! ¢ statement(s) is
o o the shoices ivon b *A gt oy e CmreCJ Il are incorrect (b) Both I and Il are ¢gprq
correct option from the choices given below. (a) Both | a::f " ;34|r»correc'f (d) Il is correct, | s Fr
(a) BothAand Rare correct; R is the correctexplanation of A ) |is correct, hibi 5
(b) Both A and R are correct: R is not the correct explanation 278, Interpretation B Lk o ) any pOSiti‘;E
e idati tate.
oxidation s
(€) Ais correct; R is incorre 4 ine exhibits only -1 gxida:
Conclusion Fluorine . Y ~1 oxidagy,

(€

ct
(@) Riscorrect; A is incorrect

state.
s ion | X i fluorine are ] ,
270 gs;&n:? (A) Most of the reactions of Choose the best option from the choices gy,
X ermic. ) A
, df d below.
Regsor_t (R) F forms small and strong bond forme @ Both conclusion and interpretation are correc
b} it with other elements. (b) Both conclusion and interpretation are incorract

(c) Conclusion is correct, interpretation is incorrect
n is correct

(d) Conclusion is incorrect interpretatior

271. Assertion (A) HF is a liquid (boiling point 293 K).
Reason (R) Itis due to strong hydrogen bonding.

272. Arrange following acids in the correct increasing
order of their acidic strength; HCI, HBr, HI, HF Level Il

Eg E';jfé Z:CB’;HF; 279. Reduction potentials of some ions are given below,
(© HCl <HBr <HI <HE ) Arrange them in decreasing order of oxidising
(d) HBr <Hl <HF <HCl power. [NCERT Exemplai}
273. 1 Fluorine forms two oxides OF, and O,F, . lon Clo; lo; BrO;
|
II. OF, is thermodynamically stable at 298 K. . ‘Reduction _ E® =119V |E° =165V |E° =174}
III. O,F, oxidises plutonium to PuFj. EOluALEr V 5
The correct set of statements is (a) CIO; >10; >BrO; (b) 10; >BrO; >ClO;
() land Il (c) Bro; >10; >ClO; (d) BrOj >ClO; >I0;
(b) ltandlll y
(c) land i . 280. Which of the following is isoelectronic pair?
’ (d) I, lland lli : [NCERT Exemplal
(@) ICl,, ClO = B
274. Which oxide of the chlorine is used as a bleaching (©) CI0y BiF 233 EI\?E'OBFF?
agent for paper pulp and textiles and in water 281. If chlor . + s o
treatment? 2 Yorne gas is passed through hot NaQ
(a) ClP BY.CI0, i solution, two changes are observed in the oxidat?”
() Cl0q (d) Cl,0, nuf;be;n c:lf ch};:rine during the reaction. They ¢
275. ...A... is used in the estimation of carbon @ A0 Ty B—o Here, Aand Brefer to
monoxide. Here, 4 refers to TG ks o tto 2
(@ 10 (b) 1,0, € A-0to+5, g g tg j
(c) Bf()z (d) BrOa : ) A-0to 1 B-0'to o
276. The ionic character of the metal halides MCI,  282. Hal
i ' e CTAl0gens are placed i m A gowp "
gﬁ/’w}:iﬁcj;gf B ord‘er (group 17 of the Il))eriodicu'll‘atlﬁz b\e]cause &
: mMCl a) these are Very reactive

N

(b) these are non-metals
(Z) these are electronegative
(d) these have 7 electrons in outermost shell
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a0

. Z::h increase in molecular weight the boiling point
alogens increase, it happens because  [OJEE 2009]

{8) van der Waals' forces increase with increase in nurber of

_ electrons per mole

.‘ ‘Hbi oh (b) bond strength increases due to increase in electronegativity

o ow (¢) with the increase in size, malecules undergo association
leading to higher stability

(d) None of the abave

286. py heating a mixture of ... A... bromine is prepared
in the laboratory. Here, A indicates

Ea) MgBr, +Cl, (b) MgBr + H,50,
S b ¢) KBr + HCI (d) KBr + MnO, + H,50;
the C—X bond (where, X =Cl. Br 1) th 287 : it
BB s order of bond Sl e . Bond length is maximum in
el ci-c—pr energy is (a) HF (6) HCI
g (c) HI H
o (d) HBr
Br>Cl 288. Bleaching powder is an example of
SeoL) i3 | (a) acomplex salt (b) an acidic salt
] \ (c) a basic salt (d) a mixed salt
‘....--..,-7 X sigd JH 1o @ 1 &0
5 " FAgntETEuns 46 0 :
- Chlorine

292. Which of the following facts is/are true about

chlorine?
(a) Itis agreenish yellow gas

- (b) lthas pungent and suffocating odour
(o) Itis about 2:5 times heavier than odour

"~ (d) Allofthe above

293. Complete the following reactions.
¢ (excess

RRh i, — "

) SRR excess)
| ) BNH,CI+N; (D NCly + 3Cl
NCl, +8HCE (1) BNH,CI+ N,
NCly + Ny (Il) 6NH,C! + 3HC!
4 3HCE () NCly + N,

Ak A =
| 4 o R Gy WU AN H,0

. 3 - —> vu‘_a--.*‘ EORN 3H2O

S Néocll:"bﬁ- 5NaC|
NaOCl; O - NaCl
| D -NaClO4
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295. Composition of bleaching powder is

296.

(a) Ca(OCl),-CaCl, -Ca(OH), - 2H,0
(b) CaCl,-CaQCl,-Ca(OH),-2H,0
(c) Ca(OCI.L,)-CaCI? -Ca(OH), -4H,0
(d) None of the above

Chlorine is used in

(@ the extraction of gold and platinum
(b) bleaching wood pulp

(€) sterilising drinking water

(d) All of the above

Master The NCERT Chemistry vol-i (Class XID

Level 11

297. Chlorine reacts with hydrocarbons

298.

anq .
A products. Here, A refers to v
(b) addition

titution
(a) substituti (d) Both (a) and (b)

(c) elimination
Chlorine is a powerful bleaching
bleaching action is due to

idati (b) reduction
(a) oxidation
(¢) acidic nature (d) None of these

agent, I

Hydrogen Chloride

Level 1

299.

300.

301.

R [ prepared HCl in 1648.

IL. ...B... showed that it is a compound of chlorine
and hydrogen, in 1810, Name the scientists A
and B. Here, 4 and Brefer to

(@ A—Dawvy; B - Scheele (b) A—Scheele; B - Davy

(c) A-Glauber; B—Scheele (d) A- Glauber; 8- Davy

HCI gas can be dried by passing through
(@) conc. H,80, (b) dil. H;SO, (c) cone. HNO, (d) dil. HNO4

Assertion (A) Dissociation constant (K, ) value of
HCl is high, i, K, =107.

Reason (R) It is a strong acid in water.
' (@) BothAandRare correct; R is the correct explanation of A
(b) Both Aand R are correct; R is not the correct explanation
of A
(c) Ais correct; R is incorrect
(d) Ris correct; A is incorrect

302.

303.

Level 11

Uses of HCI are

(a) in the manufacturing of chlorine, and glucose

(b) for extracting glue from bones and purifying bone blac
(c) in medicine and as a laboratory agent

(d) All of the above

When HCI reacts with finely powdered iron, i
forms ferrous chloride and not ferric chloride
because [MP PMT 1993]
(a) its reaction with iron produces H,

(b) liberaton of hydrogen prevents the formation of ferr
chloride

(c) Both (a) and (b)
(d) None of the above

Oxoacids of Halogens

Level I

304.

305.

Fluorine forms only one oxoacid due to
(@) high electronegativity

(b) small size

(c) low electronegativity and large size

(d) Both (a) and (b)

Statement I Most' of the oxoacids of
cannot be isolated in pure state.

halogens

Sta.t(?ment II These are stable only in aqueo™
solutions or in the form of their salts.

Which of thege statement(s) is/are correct?
(@ Only|

(b) Only ||

(c) Both land ||

(d) None of the above

ammeerer s
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P-Block Elements 239

atch the Column and choose

: th ;
406 from the codes given belo. € correct option Codes
A B O
Column | ﬁ\c““ T —— (@ 1 Fe i /1)
(Structures) © olumn || ®as 2 4 1
Xoaci ;
. Olsofhalogens) © 4 3 2 1
A H /O\Cl 1. Perchioric acid g i % } nlan®
B. H/O\CI/O 2. Chloric agid L‘e‘Lel []
307. The correct order of the decreasing acidic strengths
i O/H 85" GHlorous &g of HCIO, HCIO,, HCIO,, HCIO, is  [CBSE 2005]
| () HCIO >HCIO, >HCIO, >HCIO,
O///Cl (b) HCIO, >HCIO, >HCIO, >HCIO
f () HCIO, >HCIO, >HCIO >HCIO;
(d) HCIO, >HCIO >HCIO, >HCIO,
D. O/H 4. Hypochlorous acid 308. The hybrid state of halogen atom is sp° in
(I:I (a) CIO;
O/” \O (b) CIO™
o) (c) CIO3

(d) (a), (b) and (c)
Interhalogen Compounds

Level I

309. When two ...A... halogens react with each other,

The correct set of statements is

interhalogen compounds are formed. Here, A (@ landll ‘ (b) lland il (c) land Il (d) I, tand Il
refers to 812. Match the Column and choose the correct option
() same from the codes given below.
(b) different ’
(©) Either (2) and (b) il T e
(d) None of the above g I ;B; -
! N, SRar
310, Assertion (A) Iodine (VIL) fluoride should have C%eguaﬁorume) |
maximum number of atoms. E
Reason (R) The ratio of radii between I and F 80, — f2  2Cl
should be maximum. Ao 573K | 3. 2BiFg
() Both Aand R are correct; Risthe correct explfnat:on Otlon Sogilla t (e)g:Fers)
(b . R is not the correct explanad
) E:,E\h Aand R are correct; R is ‘ D. Br,+3F, —> 4 2CF
(©) Ais correct; R is incorrect P R
@ Ris correct; A is incorrect : E. ilr%o!ar) +Cl, — |5 2CIF
31 regarding iy
* Consider the following statements 1€8 F. B+ 5, —> |6 2k
Preparation of interhalogen compout ih ivect . |
e ,
L These can be prepal'ed by Codes
combination. A R (D) g F
L. These can be prepared by the action of halogen s X
on lower interhalogen Compounds' on some E:) g 2 ? A 516
L. The product formed dePends YR @ 2t g g t6 1. 5

Specific conditions.
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P-Block Elementsg

atch the Column and ch

: Oose ;
from the codes given bEIow_ the Correct Option
\
Column | T o s S
(Structures) Column
g | O%okclds of halngens,
AR O L Perchioficaey
B. H/O\Cl/o 2 Chlorig acid
C. o A 3. Chlorous acig
Cl
o7
(6]
D. A _AH 4. Hypochlorous acig
Cl
o7 o
0

g
Codes
Av BACD
(@ 1 o/ SR
(b) 3 PRasidig
() 4 g (a2 1
4

(d)

N

Level 1T

307,

308.

The correct order of the decreasing acidic strengths
of HCIO, HC]OQ,HCI()%HCIOl is  [CBSE 2005]
(a) HCIO >HCIO, > HCIO, >HCIO,
(b) HCIO, >HCIO,; >HCIO, >HCIO
(c) HCIO, >HCIO, >HCIO >HCIO,
(d) HCIO, > HCIO >HCIO, >HCIO,

The hybrid state of halogen atom is sp:'; in
(a) Clo;

(b) ClO~

(c) ClO;

d (@), (b) and (c)

Interhalogen Compounds

Level I

309.

310,

31

When two ...4... halogens react with each other,
interhalogen compounds are formed. Here, A4
refers to
(a) same
(b) different
(¢) Either (a) and (b)
(d) None of the above
Assertion (A) Iodine (VII) fluoride should have
maximum number of atoms.
Reason (R) The ratio of radii between I and F
should be maximum. _
(@ Both Aand R are correct; R is the correct explanation OfIA
(b) Both A and R are correct; R is not the correct explanation
of A :
(©) Alis correct; R is incorrect
@ Ris correct: A is incorrect :
Consider the following statementz regarding
Preparation of interhalogen compoun sth direct
I These can be prepared byithe
Combination. n
: halogen
I These ean be prepared by the actgm R
on lower interhalogen compouncs: e
III dS upon SO

The product formed depen
Specific conditions.

312,

The correct set of statements is

(@ land Il (b) lland Il (c) land Il (d) I, 1land Ill

Match the Column and choose the correct option
from the codes given below.

Column | Column li
(Reactants) ; (Products)
\ E
A Ol +F, 437 K | 1. 2BrF,
(equalvolume) ‘
B il €l —> 12, 2Cl
(excess) 1
k3 2BrF-
C. Clh+ 3, 28K i
(excess)
D. Bn +3FR — 4. 2CIF
(diluted with water) ,
E la +Cl, —> [5. 2CIF,
(equimolar)
F. B+ 5F, —> 6. 2ICl4
(excess) :
Codes
A Beee sl GE, oF
(@ 4 (590 2 R G
(B RARN A eS| - 2" 3
(0 &) AT 10T Qe B 56
(d) 2 BRG] S
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316. 1. IF is detected spectroscopically anq i

818. Match the Column andlchoose the corr i
from the codes given be O‘Y,;ﬁw__r————»' oo I1. BrCl is pure solid at room temperatyre

|
ect option j
P Very ‘

Column Il
Column | Columnll ture I11. ICl, dimerises as Cl-bridged di
ot ia) | (Colour and physical state) | (SIuowr®) feles s Clbridged dimer (1,; |
A CF 1 Colourless gas butsolid | 1. Bent T-shaped The correct set of statements 1s
; below 77 K @ land i
B8 IF, | ll. Colourless gas 2. Square-pyrami (b) 1, Il and Il
‘ dal (c) Iland Ili
[ | = IIl. Orange solid 3. Pentagonal (d) 1and Il
/ bipyramidal
D. ICly |IV. Colourless gas 4, Bent T-shaped L
evel 11
Codes e wioct
@ 10 o 1o Ve 317. Assertion (A) X—X' bond in interhaloger ,
a ) i
O In Ve @) 1@) weaker than X — X bond in halogens.
© I 1@ V) i@ Reason (R) Interhalogen compounds are g,

reactive than halogens (except fluorine).
(a) BothAand Rare correct; Ris the correct explanation oy
(b) Both A and R are correct; R is not the correct explans,,

@ v @ 1e 1@

'314. Interhalogen compounds are

315.

(a) covalent molecules
(b) diamagnetic in nature
(c) volatile solids/liquids at 298 K except CIF

(d) All of the above

Interhalogen compounds can be used as
L. non-aqueous solvents

II. fluorinating agents

The correct use(s) is/are

(@) Onlyl (b) Only Il

318.

of A
(c) Ais correct; R is incorrect
(d) Ris correct; A is incorrect

“Molecular structures of interhalogen compounds
can always be explained on the basis of VSEPR

theory”. This statement is

(a) true

(b) false

(c) sometimes true sometimes false
(d) cannot be predicted

(c) Bothlandll (d) Neither | nor |l

Group-18 Elements

Level 1
319. Group 18 consists of ...A... elements. Here, A III. these have large positive values of electron g
refers to enthalpy.
() 8l (b) seven  (c) five (d) eight the incorrect set of statements is
320. All noble gases have general electronic Ea; II ! Z”I? \ (b) Itand Il
configuration ...4... except helium which has b (d) None of these
" ...B... . Here, A and Brefer to 822. The only type of interatomic interaction it nobk
(8) A-nsPnp*;B -1 (b) A-ns’np%B-1s? gases is
(c) A-ns’np®B-1s' (d) A-ns’np*;B=1s' (@) weak dispersion forces  (b) H-bonding
321. Due to stable electronic configurati (c) covalent bonding (@) None of these |
AT known substance. Here, A refers to
(a) argon (b) helium
(c) neon (d) krypton

ot the electron.

AT
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325.

326.

327,

328.

329.

330.

31,

p-B

oble gases are
2) monoatomic (b)

. diatomi
© polyatomic (d) Omic

Noﬂe of these

assertion (A) Noble gages e

Rgasg’n (R) All of them hay, complef

ps?p’ electronic configuration o tﬁglely filled

Sheu. elr Valence
Both Aand Rare correct: R i

EE; B thARndR are cormact %T‘;:Zfzzreegt ®Xplanation of o
of A orrect explanation

(c) Als correct; R is incorrect

@ Ris correct; Ais incorrect

east reaCtiVe‘

In 1962, Neil Bartlett prepared
whichisformulated as 5. 1o o
to )
(a) A-red; B-05 PtFg
(c) A-brown; B—OPtFs

mpound
and B refer

(b) A- brOWn; B_O; PtFG—
(d) A-red; B-0,PtF,

Enthalpy of molecular oxygen is almost identical
with that of

(@) neon (b) argon

(c) helium (d) xenon

Xenon forms ...IL... binary fluorides. Here, I is

(@) two (b) three (c) four (d) five
I. XeOF, has square pyramidal structure.
II. XeF, has linear structure.

Which of the above mentioned statement(s) is/are
true?

Choose the correct option.
@ Only | (b) Only Il
() Both land Il (d) Neither !l norll

Does the hydrolysis of XeF; lead to a redox
reaction?

(@) Yes () No .
(¢) May be (d) Cannot be said
Match the Column and choose the correct option

from the codes given below.

Il
Column | Column
Structure)
—__(Compound) ( ‘
A XeFs 1, Pyramidal
B XeOF, 2. Square pyramida |
; octahedra

Codes

=N =2 wO

~Black E|Em‘3ntS

332,

333.

334.

335.

336.

337.

338.

241

A " Ty o 1954 18 , .

tg'\.s X 18 used in filling balloons for
meteorological observations. It is also used in
gas-cooled nuclear reactors. Identify ¢ X".
(@) Helium (b) Neon
(¢) Argon (d) Krypton

Match the Column and choose the correct option
rom the codes given below.

Column | Column [
Mg o Uses) (Noble gases)
A.  In discharge tubes and 1. Argon
fluorescent bulbs
B. Plrovides an inert atmosphere in [2. Helium
high temperature metallurgical |
process !
|
C. MR systems {3. Neon
Codes
A =
(@) 1 2 3
(b) 3 Za|
(@) Ik
(d) 1 3 2
Level 11

Noble gases are adsorbed by
(@) finely divided Pd and Pt
(c) colloidal Pd

(b) coconut charcoal
(d) All of these

Noble gases can be separated by

(a) electrolysis of their compounds

(b) adsorption and desorption on coconut charcoal
(c) passing them through some solutions

(d) None of the above

The ease of liquefaction of noble gases increases in
the order

(@) He >Ne >Ar >Kr > Xe

(b) Xe >Kr >Ar >He >Ne

(c) He <Ne <Ar <Kr <Xe

(d) Xe <He <Ne <Ar <Kr

The atomic weight of noble gases is obtained by
utilising the relationship [CPMT 2002]
valency
equivalent weight
(b) atomic weight = equivalent weight xvalency
equivalent weight
valency

(d) 2 x VD = molecular weight = atomic weight

Among XeOs, XeO, and XeFg, the molecules

having same number of lone pairs on Xe are

XeO, and XeFg only
(a) XeO5and XeO, only (b) 3 5
(c) XeO, and XeFg only (d) XeOg XeO, and XeFg

(a) atomic weight =

(c) atomic weight =
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242 Master The NCERT Chemistry vol-11 (Class AL

Miscellaneous Questions

- i tat ts
339. Mixture of sand and iodine can be separated by 346. Which of the following statements are Correy,

340.

(a) fractional distillation

(b) sublimation

(c) separation is not possible

(d) disolving in water and filtering

Compounds formed when noble gases get

. Among halogens, radius ratio betWeen o
and fluorine is maximum. d”’e

II. Leaving F—F bond, all halogens have *
X—Xbond than X—X'bond in interhg], :Illtqr

III. Among interhalogen compounds pg,:

i : are present in iodj iy
entrapped in the cavities of crystal lattices of certain number of atoms are p ¢ dine ﬂ“()ride
inorganic and organic compounds are known as IV. Interhalogen compounds are more Teagg,
(@) clathrates (b) hydrates than halogen compourlds.

(c) picrates (d) interstitial compounds The correct option Pr
341. In qualitative analysis when H, S is passed through (@ I, lland Ill ’ Ezi ld::/a|n:nla/{|

§ v \, (. \
an aqueous solution of salt acidified with dil. HC], a (©) Il Ilhand |
black precipitate is obtained. On boiling the 947, Match the items of Columns I and IT apq chog
precipitate with dil. HNOj, it forms a solutloq of the correct option from the codes given bely,
blue colour. Addition of excess of aqueous solution INCERT Eye,
of ammonia to this solution gives  [NCERT Exemplar] - I ;

() deep blue precipitate of Cu(OH), . - 9”;“0';3 rerrs 1‘ : CO:{Umnl
i 2+ . Its partial hydrolysis ; s
(s climsc ki [CU(NHB)A] oxidation state of central atom i
(c) deep blue solution of Cu(NO,), B. Itisused in modem diving apparatus | 2. Xef,
(d) deep blue solution of Cu(OH),-Cu(NOy), C. ltis used to provide inert atmosphere for | 3. Xef,
: A : : filling electrical bulbs ;
342. L Radloactmty of radon is used in the treatment D. lts central atom is in sp%2 hybridisation " 4. A
of cancer therapy. *
II. In kroll and ICI process of the production of Codes s
titanium, the inert gas used is argon. 2 ?‘ E g 2 ) = E; T
5 - > a 1 3 -
ITT. Gas used in thermometer is helium. i e @ e
The correct set of statement is . -
@ 1,1l and I ©) and i Directions (Q. Nos. 348-352) In the follow
© {and Ii @ lland Il questions a statement of assertion- followed b
statement of reason is given. Choose the correct ans
343. ...A... are fluorochlorobromocarbons used as fire out of the following choices.

fighting in tanks and armoured personal carriers.
Here, Arefers to
(@) CFC’s

(c) Either (a) or (b)

(b) Halons
(d) None of these

344. In the ring test for NOj ion, a brown ring is formed

due to the formation of
(a) FeSO, -NO,

(b) FeSO, -HNO,

(©) [Fe(H,0)5(NO)I*

(d) [Fe(H,0), (NO),]**

[KCET 2007]

345. A black compound of manganese reacts with a

halogen acid to give greenish yellow gas. When
excess of this gas reacts with NH; an unstable
trihalide is formed. In this process the oxidation

(@) Both AandRare correct; R isthe correct explanation

(b) Both A and R are correct: R is not the correct explan
of A

(c) Aliscorrect; R is incorrect
(d) Ris correct; A is incorrect

Assertion (A) CIF, exists butFCl, doesnote
Reason (R) Fis more electronegative than C

Assertion (A) PH, forms bubbles when ¢

slowly in water but NH dissolves.
Reason (R) NH; is water soluble.

350. Assertion (A) Nitric oxide is paralnagﬂet
gaseous state.
Reason (R) Solid of nitric oxide obtain®
cooling is diamagnetic.

348

349

state of nitrogen changes from ...... [NCERT Exemplar] :
(a) -3to +3 : : (b) -3t0 0 351. Assertion (A) SF is known but SClg is 1o
(c) -3to +5 (d) 0to-3 Reason (R) Due to small size of F.
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Miscellaneous Questions

346. Which of the following statements are Cory

. Mixture of sand and iodine can be separated by . ‘ ecp
339. Mixture of sar I [. Among halogens, radius ratio betwe

(a) fractional distillation

(b) sublimation

(c) separation is not possible

(d) disolving in water and filtering

340. Compounds formed when noble gases get

entrapped in the cavities of crystal lattices of certain
inorganic and organic compounds are known as
(@) clathrates (b) hydrates

(c) picrates (d) interstitial compounds

. : M jg .
and fluorine is maximum. dlfle

1. Leaving F—F bond, all halogens hay,

X—Xbond than X—X'bond in interhalogiakef
Among interhalogen compounds maxjmm
number of atoms are present in iodine ﬂuonsm
Interhalogen compounds are more |,

than halogen compounds.

The correct option is

I11.

IV.

reacﬁ‘/n

341. In qualitative analysis when H, S is passed through (@) I, Iland Il (b) I, lland IV
. ‘1 ; il. HCI (c) I, Il and IV (d) Onlyland I
an aqueous solution of salt acidified with dil. HCI, a
black precipitate is obtained. On boiling the 847 Match the items of Columns I and II and chy,

precipitate with dil. HNOg, it forms a solution of
blue colour. Addition of excess of aqueous solution
of ammonia to this solution gives  [NCERT Exemplar]
(@) deep blue precipitate of Cu(OH),

(b) deep blue solution of [Cu(NH,), 1%

(c) deep blue solution of Cu(NO,),

(d) deep blue solution of Cu(OH),-Cu(NO,),

342. 1 Radioactivity of radon is used in the treatment

of cancer therapy.

the correct option from the codes given belg,
[NCERT Exe,-np’,ar

Column | Column |

A. lts partial hydrolysis does not change 1. He
oxidation state of central atom
B. Itis used in modern diving apparatus 2.
C. ltis used to provide inert atmosphere for | 3,
filling electrical bulbs
D. lts central atom is in sp%? hybridisation | 4. Ar

XeF;
XeF,

II. In kroll and ICI process of the production of Catles

titanium, the inert gas used is argon. ?‘ E S (R EEMG A
III. Gas used in thermometer is helium. g o i g Ed) 1 g g 4
The correct set of statement is : .
&) L iandil (&1 andll Dlregtlons (Q. Nos. 348-352) In the followix
© iand i @ Nland Il questions a statement of assertion. followed by :

statement of reason is given. Choose the correct answe
343. ...A... are fluorochlorobromocarbons used as fire out of the following choices.

fighting in tanks and armoured personal carriers.
Here, A refers to '
(@) CFC’s

(c) Either (a) or (b)

(b) Halons
(d) None of these

344. In the ring test for NOj ion, a brown ring is formed

due to the formation of
(a) FeSO, -NO,

(b) FeSO, -HNO,

() [Fe(H0);(NO)J*

(d) [Fe(H,0), (NO),]?*

[KCET 2007]

345. A black compound of manganese reacts with a

halogen acid to give greenish yellow gas. When
excess of this gas reacts with NH, an unstable
trihalide is formed. In this process the oxidation

(@) Both Aand Rare correct; R is the correct explanationof4

(b) Both Aand R are correct; R is not the correct explanai®
of A

(¢) Alis correct; R is incorrect

(d) Ris correct; A is incorrect

348. Assertion (A) CIF, exists butFCl; does not exi*

Reason (R) F is more electronegative than Cl

349, Assertion (A) PH, forms bubbles when &

slowly in water but NH, dissolves.
Reason (R) NH; is water soluble.

850. Assertion (A) Nitric oxide is paramagne 4

gaseous state. .
Reason (R) Solid of nitric oxide obtaine?
cooling is diamagnetic.

state of nitrogen changes from ...... INCERT Exemplar]
peisy bt e 351. Assertion (A) SF; is known but SClg is 1ot
(©) -3t0 +5 (d) 0to-3 Reason (R) Due to small size of F.
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P-Block Elements

52 Assertion (A) In the preparation of H,S
3 contact process, SO; is not abse 1 250, by
water O form H, SO, . rbed

eason (R) Acid fog is form L
5) condense. ed, which is difficult

directly in

A substance on treatment with dilute H, S
[ibrates a colourless gas which o
[. turns acidified dichromate solution green
1. produces turbidity with baryta water

These reactions indicate the presence of
@ & (b) NO; (ENSO (d) o2
3

353

A student accidentally splashes few drops of
conc. Hg SO, on his cotton shirt. After a whilI()a tl?e
splashed parts get blackened and the holes aj e

This happens because sulphuric acid e
(a) heats up the cotton

(b) removes the elements of water from cotton

(c) causes the cotton to react with water

(d) dehydrates the cotton with burning

354.

355. The oxyacids of S having —S—S— bond is/are

I H25204; II. H2S207;
]II. H25205; IV HQSZO?’
Choose the correct option.
(@) landlll () land IV () landll (@ Ilandlll
xodisulphuric acid

356. Hydrolysis of one mole of pero
will yield
(a) two moles of peroxomonosulphuric acid

(b) two moles of sulphuric acid
(c) one mole each of sulphuric acid, peroxomo

acid and hydrogen peroxide
(d) one mole of sulphuric aci
peroxomonosulphuric acid

357. Which of the following state
I. Xenon fluorides are non-reactive.

II. Hydrolysis of XeFg is a redox reaction-
between particles of

III. Onl e of interactions :
nobl>; Zzses are due to weak dispersion forces

IV. Ionisation enthalpy of molecular 0xygen is
very close to that of xenon.

Choose the correct option:
e e el and Y idheland!

35
8. The reactions in which conc: H,
oxidising agent are
O
4 1y ar 502 ar 2H2

I Nocy - 911.SO, —> Natld
2 4
L. caF, + H,50, — CaSO, + 2HF

nosulphuric

d and one mole of

ments are correct?

SO, is used as an

243
IV. Cu+2H4,50, —> CuSO, + SO,
+2H,0
Choose the correct option.
(@) land Il (b) Il and Il
(¢) land HI (d) | and IV
umn I

Match the formulas of oxides given in Col
with the type of oxide given in Column IT and mark

the correct option. [NCERT Exemplar]

] Column | L Column |l

A PbO, | 1. Neutral oxide

B. NO 2. Acidic oxide

C. MnoO;, ! 3. Basic oxide

D. Bif, | 4. Mixed oxide
Codes

A B € D A B C D
(@ 1 2 3 4 (b) 4 2 3
) 3 P S d 4 3 1 2

Match the items of Columns I and II and choose
the correct option from the codes given below.

[NCERT Exemplar]

Column | Column li
A. HSO0, 1. Highest electron gain enthalpy
B. CCINO, 2. Chalcogen
C. Cl, 3. Teargas
D. Sulphur 4. Storage batteries
Codes
A B C D
(@) 4 G
() 3 4 " 2
(c) 4 O3
(@ 2 T e

In BrF; the central atom Br has __.A... electrons in

the valence shell. Here, Ais

(a) six (b) seven
(c) eight (d) four
Structure of BrFy is
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(d) None of these
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